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; 100kN/m#%#BZ % - ~ -|3mEEBER S -~ - -| 100kN/m%#8Z % - ~ -|3mEBZ D -~ -
ZnLst 1.00 | 0.00 ~ 6.33 79.63 | #nLS | 000 ~ 633|204 10.32 Fns 1.00 | 5.00 ~ 8.81 79.63 | ThLS | 5,00 ~ 881|204 10.32
2 100kN/m% 8% % ~ -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
ZnLst 1.00 | 0.00 ~ 7.05 89.48 | ThLS | 000 ~ 7.05| 1.85 9.35 Fns 1.00 | .00 ~ 899 89.48 | =nLS | 500 ~ 899 | 1.85 9.35
3 100kN/m% 8% % ~ -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
st 1.00 | 000 ~ 724 9219 | Fhs | 000 ~ 724|243 12.26 Fns 1.00 | .00 ~ 1015 92.19 | Ths | 500 ~ 1015|243 12.26
4 100kN/m% 8% % ~ -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 4.55 56.68 | ThLS | 000 ~ 000 1.57 7.95 Fns 1.00 | 5.00 ~ 5.00 56.68 | TnLS | 5,00 ~ 5.00 | 157 7.95
5 100kN/m% 8% % ~ -|3mEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 492 61.30 | ThUs | 000 ~ 492 1.83 9.23 Fns 1.00 | .00 ~ 5.30 61.30 | TRLS | 5.00 ~ 530 | 1.83 9.23
6 100kN/mM% 8% % ~ -|3mEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEEZ S ~
st 1.00 | 000 ~ 477 59.41 | =hLs | 000 ~ 000 1.76 8.88 FnLs 1.00 | 5.00 ~ 5.00 59.41 | =nS | 500 ~ 600|176 8.88
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
TS ~ Zh st ~ Zh st ~ Zh s ~
100kN/mM% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
TS ~ Zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
Zh s ~ Zh st ~ Zh st ~ Zh LS ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
Zh s ~ Zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
TS ~ Zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
Zh s ~ Zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
ZFhst ~ Zhn st ~ ZzhnLs ~ Zhnst ~
100kN/mM% 8% % ~ ImERBZD ~ 100kN/m%# % % ~ ImEREZD ~
st ~ ZhnLst ~ Zzhnst ~ ZhLst ~
100kN/m% 8% % ~ ImERBZD ~ 100kN/m%# % % ~ ImEREZD ~
ZhLs ~ Zh st ~ ZThLst ~ ZhLs ~
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